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QUESTION 1

Refer to the exhibit. 

Which set of configurations will result in all ports on both switches successfully bundling into an EtherChannel? 

A. switch1 channel-group 1 mode active switch2 channel-group 1 mode auto 

B. switch1 channel-group 1 mode desirable switch2 channel-group 1 mode passive 

C. switch1 channel-group 1 mode on switch2 channel-group 1 mode auto 

D. switch1 channel-group 1 mode desirable switch2 channel-group 1 mode auto 

Correct Answer: D 

 

 

QUESTION 2

Ferris Plastics, Inc. is a medium sized company, with an enterprise network (access,distribution and core switches) that
provides LAN connectivity from user PCs to corporate servers. The distribution switches are configured to use HSRP to 

provide a high availability solution. 

DSW1 -primary device for VLAN 101 VLAN 102 and VLAN 105 

DSW2 - primary device for VLAN 103 and VLAN 104 
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A failure of GigabitEthemet1/0/1 on primary device should cause the primary device to release its status as the primary
device, unless GigabitEthernet1/0/1 on backup device has also failed. 

Troubleshooting has identified several issues. Currently all interfaces are up. Using the running configurations and show
commands, you have been asked to investigate and respond to the following question. 

During routine maintenance, it became necessary to shut down the GigabitEthernet1/0/1 interface on DSW1 and DSW2.
All other interfaces were up. During this time, DSW1 became the active router for the VLAN 104HSRP group. As related
to the VLAN 104HSRP group, what can to be done to make the group function properly? 

A. On DSW1, disable preempt. 

B. On DSW2 decrease the priority value to a value less than 150. 

C. On DSW1, increase the decrement value in the track command to a value greater than 6. 

D. On DSW1, decrease the decrement value in the track command to a value less than 1. 

Correct Answer: C 

 

 

QUESTION 3

A network is running VTPv2. After verifying all VTP settings, the network engineer notices that the new switch is not
receiving the list of VLANs from the server. Which action resolves this problem? 
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A. Reload the new switch. 

B. Restart the VTP process on the new switch. 

C. Reload the VTP server. 

D. Verify connected trunk ports. 

Correct Answer: D 

 

 

QUESTION 4

A network administrator configures 10 extended VLANs ranging from VLANs 3051 to 3060 in an enterprise network.
Which version of VTP supports these extended VLANs? 

A. version 1 

B. version 2 

C. version 3 

D. VTP does not recognize extended VLANs. 

Correct Answer: C 

 

 

QUESTION 5

Which VTP mode is needed to configure an extended VLAN, when a switch is configured to use VTP versions 1 or 2? 

A. transparent 

B. client 

C. server 

D. Extended VLANs are only supported in version 3 and not in versions 1 or 2. 

Correct Answer: D 

642-813 PDF Dumps 642-813 Exam Questions 642-813 Braindumps

642-813 PDF Dumps | 642-813 Exam Questions | 642-813 Braindumps                                4 / 5

https://www.geekcert.com/642-813.html
https://www.geekcert.com/642-813.html
https://www.geekcert.com/642-813.html
https://www.geekcert.com/642-813.html
https://www.geekcert.com/642-813.html
https://www.geekcert.com/642-813.html


https://www.geekcert.com/642-813.html
2021 Latest geekcert 642-813 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.geekcert.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © geekcert, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

642-813 PDF Dumps | 642-813 Exam Questions | 642-813 Braindumps                                5 / 5

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.geekcert.com/642-813.html
https://www.geekcert.com/642-813.html
https://www.geekcert.com/642-813.html

